4 7]0{7}0] =2

Kr

tof Li7-gol FofLt

3|

o
)

o Holg

M
(=]

>

&

H

ol
=

[EL]

Ol

R4
3

(KS F 2278)0f 2t

3

R

HE Z =

* LB

0
5L
o

7]

Of H|HA|

t

]

=

k<13
T 90° MK JHH 7Hs

E

i

S

2 W7t 7t

SIX[of w2t 45° ~90° 7tX

Zgol

7S WA

ol
b= Mol 2t ®=of 7t

| DFAXIOf mhatA 7] 2t

AAIZ|O
AATFO

P

£|Cf 90°MHK| 7HT| 7} 7}
Eot REEBR NS

7

{0

AN

7t

Mg
A3

(o]
)

HE Be71E

t

C
il

t

7
(il

)

i

S

e 20| 7}

It

=]
e

q

1 HH™

o| EEtZof A oS YA

710] 710 =

2lof Ztol =

4 7|0{7t0| =9

S

&

E]

A
e | AISE

&

32
(=
-
ey

o
)

otz 7} Hof
ol o5 b|H

|EEI
=00

i

of otl &AH 7|0{7to
=

c
[~

YA
xIztol 7t
ol HYOILF HOIFS WRIs0] ||
HaH|7}

Al

[e]]
=

2
t2| o

prul
(=)

0

[EL]

IH

51 70
Ho ulr




